

**A THEOREM ABOUT THE OSCILLATION OF SUMS
 OF INDEPENDENT RANDOM VARIABLES¹**

D. L. HANSON AND F. T. WRIGHT

ABSTRACT. Let X_1, X_2, \dots be i.i.d. random variables and let $S_n = X_1 + \dots + X_n$. The relationship between the t th moment of X_1 and the convergence of the series $\sum_{n=1}^{\infty} z^n n^{t-1} P(S_n > 0)$ is investigated in this paper. The convergence of the series above when $|z|=1$ but $z \neq 1$ is related to the oscillation of the sequence $\{P(S_n > 0)\}$ and to the oscillation of the sequence $\{S_n\}$ about zero.

Let X, X_1, X_2, \dots be i.i.d. random variables and define $S_n = X_1 + \dots + X_n$ for $n=1, 2, \dots$. The main purpose of this paper is to prove the following theorem.

THEOREM. *If $t \geq 1$ and if*

$$(1) \quad -\infty \leq EX < 0 \quad \text{and} \quad E(X^+)^t < \infty,$$

then for each $\delta > 0$ the series

$$(2) \quad \sum_{n=1}^{\infty} z^n n^{t-1} P\{S_n > 0\}$$

converges uniformly on the set

$$(3) \quad R_\delta = \{z: z \text{ complex, } |z| \leq 1, \text{ and } |1 - z| \geq \delta\}.$$

Heyde [2] has shown that under the conditions of the theorem the series

$$(4) \quad \sum_{n=1}^{\infty} n^{t-2} P\{S_n > 0\}$$

converges. Hanson and Katz [1] have shown that even when there are

Received by the editors September 29, 1971 and, in revised form, June 7, 1972.

AMS (MOS) subject classifications (1970). Primary 60G50; Secondary 60C05, 60F99.

Key words and phrases. Oscillation, oscillation about zero.

¹ Research sponsored by the Air Force Office of Scientific Research, Air Force Systems Command, USAF, under AFOSR Grant No. 68-1394 and AFOSR Grant No. 71-2031. The United States Government is authorized to reproduce and distribute reprints for government purposes notwithstanding any copyright notation hereon.

no moment conditions imposed on X the series

$$(5) \quad \sum_{n=1}^{\infty} (-1)^n n^{-1} P\{S_n > 0\}$$

converges. (This might be considered to be the case $t=0$.) The fact that (5) converges can be interpreted as saying that the sequence of probabilities $P\{S_n > 0\}$ does not oscillate too violently or that the sequence S_n does not oscillate too violently about zero. Note that if the sequence $P\{S_n > 0\}$ converged monotonically to zero, then the convergence of (4) would imply the convergence of (2).

After proving the theorem some remarks will be made about the cases $t < 1$.

Define

$$(6) \quad q_n = P\left\{\bigcap_{k=1}^n [S_k > 0]\right\} \quad \text{and} \quad p_n = P\{S_n > 0\} \quad \text{with } q_0 = 1.$$

We begin by giving four lemmas.

LEMMA 1. *If $t \geq 1$ and (1) holds, then, for all real x ,*

$$(7) \quad \sum_{n=1}^{\infty} n^{t-2} P\{S_n > x\} < \infty.$$

PROOF. The proof is, with minor changes, contained in the proofs of Lemmas 1 and 2 of Heyde [2].

LEMMA 2. *If $|z| < 1$ then*

$$(8) \quad \sum_{n=0}^{\infty} q_n z^n = \exp\left\{\sum_{n=1}^{\infty} p_n n^{-1} z^n\right\}.$$

PROOF. See Corollary 2 in Spitzer [6] and the remarks immediately following Corollary 2.

LEMMA 3. *If $t \geq 1$ and (1) holds, then*

$$(9) \quad \sum_{n=1}^{\infty} n^{t-1} q_n < \infty.$$

PROOF. If the right-hand side of (8) is written as a power series in z , then a comparison of the coefficients of z^n on both sides of equation (8) gives, for $n=1, 2, \dots$,

$$(10) \quad q_n = \sum_{\nu=1}^n \frac{1}{\nu!} \sum^* \prod_{i=1}^{\nu} k_i^{-1} p_{k_i}$$

where \sum^* is taken over all ordered ν -tuples (k_1, \dots, k_ν) of positive integers for which $k_1 + \dots + k_\nu = n$. If $k_1 + \dots + k_\nu = n$ and $k_i \geq 1$ for $i = 1, \dots, \nu$, then $\prod_{i=1}^\nu k_i^{t-1} \geq (n/\nu)^{t-1}$ so that

$$\begin{aligned} \sum_{n=1}^\infty n^{t-1} q_n &\leq \sum_{n=1}^\infty \sum_{\nu=1}^n (v^{t-1}/\nu!) \sum^* \prod_{i=1}^\nu k_i^{t-2} p_{k_i} \\ &= \sum_{\nu=1}^\infty (v^{t-1}/\nu!) \sum_{n=\nu}^\infty \sum^* \prod_{i=1}^\nu k_i^{t-2} p_{k_i} \\ &= \sum_{\nu=1}^\infty (v^{t-1}/\nu!) \left[\sum_{n=1}^\infty n^{t-2} p_n \right]^\nu. \end{aligned}$$

This last expression is finite from Lemma 1.

For convenience we define

$$(11) \quad A(z) = \sum_{n=1}^\infty p_n n^{-1} z^n.$$

LEMMA 4. *If $\exp\{-A(z)\}$ is written as a power series*

$$\exp\{-A(z)\} = \sum_{n=0}^\infty d_n z^n,$$

then $|d_n| \leq q_n$ for all n .

PROOF. Note that $d_0 = q_0 = 1$ and that, for $n \geq 1$,

$$d_n = \sum_{\nu=1}^n \frac{(-1)^\nu}{\nu!} \sum^* \prod_{i=1}^\nu k_i^{-1} p_{k_i}.$$

Comparing this with (10) completes the proof.

PROOF OF THE THEOREM. Differentiating (8) and multiplying by $z[\exp\{-A(z)\}]$ gives, for $|z| < 1$,

$$(12) \quad [\exp\{-A(z)\}] \sum_{n=1}^\infty n q_n z^n = \sum_{n=1}^\infty p_n z^n.$$

From Lemmas 3 and 4 the two series on the left-hand side of (12) each converge absolutely for $|z| < 1$. Hence the product series converges absolutely for $|z| < 1$ and, for $n = 1, 2, \dots$,

$$(13) \quad p_n = \sum_{k=0}^n (k q_k) d_{n-k}.$$

Fix $\delta > 0$. The remainder of the proof consists of showing that (2)

converges uniformly on R_δ . For $0 < N_0 \leq N \leq M$,

$$\begin{aligned}
 \sum_{n=N}^M z^n n^{t-1} p_n &= \sum_{n=N}^M z^n n^{t-1} \sum_{k=0}^n d_k (n-k) q_{n-k} \\
 (14) \qquad &= \sum_{k=0}^{M-N_0} d_k z^k \sum_{v=\max\{N-k, N_0\}}^{M-k} (v+k)^{t-1} \nu q_\nu z^\nu
 \end{aligned}$$

$$(15) \qquad + \sum_{v=1}^{N_0-1} \nu q_\nu z^\nu \sum_{k=N-v}^{M-v} (v+k)^{t-1} d_k z^k.$$

Now $\{q_n\}$ is nonincreasing and, from Lemma 3, $q_n \rightarrow 0$ as $n \rightarrow \infty$. We define $\gamma_n = q_n - q_{n+1}$ so that $q_n = \sum_{k=n}^\infty \gamma_k$ and $\gamma_n \geq 0$ for all n . Set $c_\nu = \nu(\nu+k)^{t-1} - (\nu-1)(\nu+k-1)^{t-1}$ so that $\nu(\nu+k)^{t-1} = \sum_{\alpha=1}^\nu c_\alpha$ for $\nu = 1, 2, \dots$. (We omit an index k in the definition of c_ν .) Then if $n \leq m$,

$$\begin{aligned}
 \left| \sum_{v=n}^m \nu(\nu+k)^{t-1} q_\nu z^\nu \right| &= \left| \sum_{v=n}^m \nu(\nu+k)^{t-1} z^\nu \sum_{j=v}^\infty \gamma_j \right| \\
 &= \left| \sum_{j=n}^\infty \gamma_j \sum_{v=n}^{\min\{m, j\}} \nu(\nu+k)^{t-1} z^\nu \right| \\
 &= \left| \sum_{j=n}^\infty \gamma_j \sum_{v=n}^{\min\{m, j\}} z^\nu \sum_{\alpha=1}^v c_\alpha \right| \\
 (16) \qquad &\leq \sum_{j=n}^\infty \gamma_j \sum_{\alpha=1}^{\min\{m, j\}} c_\alpha \left| \sum_{v=\max\{n, \alpha\}}^{\min\{m, j\}} z^\nu \right|.
 \end{aligned}$$

For $z \in R_\delta$ we have $|\sum_{v=r}^s z^\nu| \leq 2/\delta$ so that (16) is bounded by

$$(2/\delta) \sum_{j=n}^\infty \gamma_j \sum_{\alpha=1}^j c_\alpha = (2/\delta) \sum_{v=n}^\infty \gamma_\nu \nu(\nu+k)^{t-1}.$$

Thus if $z \in R_\delta$ and $0 < N_0 \leq N \leq M$ we see that the absolute value of (14) is bounded by

$$\begin{aligned}
 (2/\delta) \sum_{k=0}^\infty |d_k| \sum_{v=N_0}^\infty \nu(\nu+k)^{t-1} \gamma_\nu \\
 (17) \qquad \qquad \qquad \leq (2/\delta) d_0 \sum_{j=N_0}^\infty j^t \gamma_j
 \end{aligned}$$

$$(18) \qquad \qquad \qquad + (2/\delta) 2^{t-1} \sum_{k=1}^\infty k^{t-1} |d_k| \sum_{j=N_0}^\infty j^t \gamma_j.$$

Now $\sum_{k=1}^\infty k^{t-1} |d_k| < \infty$ from Lemmas 3 and 4. Thus if (as we will show next) $\sum_{j=1}^\infty j^t \gamma_j < \infty$, then both (17) and (18) will converge to zero as $N_0 \rightarrow \infty$, and thus (14) will converge to zero uniformly in N and M

(satisfying $N_0 < N < M$) as $N_0 \rightarrow \infty$. We have

$$\begin{aligned} \sum_{j=1}^{\infty} j^t \gamma_j &\leq \sum_{j=1}^{\infty} \gamma_j \sum_{k=1}^j tk^{t-1} = \sum_{k=1}^{\infty} tk^{t-1} \sum_{j=k}^{\infty} \gamma_j \\ &= \sum_{k=1}^{\infty} tk^{t-1} q_k < \infty. \end{aligned}$$

For $|z| \leq 1$ the absolute value of (15) is bounded by

$$\sum_{v=1}^{N_0-1} v q_v \sum_{k=N-v}^{\infty} (v+k)^{t-1} |d_k|.$$

If $2N_0 \leq N \leq M$ then the above is bounded by

$$2^{t-1} \sum_{v=1}^{N_0-1} v q_v \sum_{k=N-N_0}^{\infty} k^{t-1} |d_k|.$$

By Lemmas 3 and 4, for each fixed N_0 the above expression tends to zero as $N \rightarrow \infty$.

If $\varepsilon > 0$ we first choose N_0 large enough that (14) is less than $\varepsilon/2$ in absolute value for all N and M satisfying $N_0 \leq N \leq M$. Then we choose $N_1 \geq 2N_0$ such that (15) is less than $\varepsilon/2$ in absolute value for all $N_1 \leq N \leq M$.

CONCERNING A CONVERSE. An examination of its proof shows that the theorem remains valid if (1) is replaced by

$$(19) \quad \sum_{n=1}^{\infty} n^{t-2} P\{S_n > 0\} < \infty.$$

Smith [5] gives for each $t \geq 1$ a distribution such that (19) holds and such that $EX^+ = EX^- = \infty$.

If it is assumed that $t > 1$ and that $-\infty \leq EX < 0$, is the converse to the theorem true? (I.e., does the convergence of (2) uniformly on R_δ for every $\delta > 0$ imply $E(X^+)^t < \infty$?) Note that once it is assumed that $EX < 0$ then $E(X^+) < \infty$ so there is no converse to worry about when $t = 1$.

The case $0 < t < 1$. If we assume $-\infty \leq EX < 0$ then $E(X^+)^1 < \infty$. The theorem holds for $t = 1$ and, from an inspection of the proof of the theorem, we find that the conclusion of the theorem is valid for $0 < t < 1$ also.

The series (19) is finite for all $t < 1$. The following example shows that the conclusion of the theorem does not hold for all $t < 1$.

EXAMPLE. Let X_1, X_2, \dots be i.i.d. random variables with $P\{X_i = 1\} = P\{X_i = -1\} = \frac{1}{2}$. Then

$$\begin{aligned} P\{S_n = 0\} &= 0, \quad n \text{ odd,} \\ &= \left(\frac{1}{2}\right)^{2k} \binom{2k}{k}, \quad \text{if } n = 2k \text{ for some } k, \end{aligned}$$

and, for $n=1, 2, \dots$, $P\{S_n > 0\} = \frac{1}{2}[1 - P\{S_n = 0\}]$. Thus if $0 < t < 1$,

$$\begin{aligned} \sum_{n=1}^{\infty} (-1)^n n^{t-1} P\{S_n > 0\} \\ &= \lim_{m \rightarrow \infty} \sum_{k=1}^m - \left[(2k-1)^{t-1} \left(\frac{1}{2}\right) - (2k)^{t-1} \left(\frac{1}{2} - \frac{P\{S_{2k} = 0\}}{2}\right) \right] \\ &\cong \lim_{m \rightarrow \infty} - \sum_{k=1}^m \frac{1}{2} (2k)^{t-1} P\{S_{2k} = 0\} \\ &= - \sum_{k=1}^{\infty} (2k)^{t-1} \left(\frac{1}{2}\right)^{2k+1} \binom{2k}{k}. \end{aligned}$$

Using Stirling's formula we find that there exist a positive constant C and an integer k_0 such that for $k \geq k_0$

$$\binom{2k}{k} \left(\frac{1}{2}\right)^{2k+1} (2k)^{t-1} \geq Ck^{t-3/2}.$$

Hence the conclusion of the theorem does not hold if $t \geq \frac{1}{2}$.

The following partial results hold when $0 < t < 1$.

PROPOSITION 1. *If $0 < t < 1$ and if*

$$(20) \quad \sum_{n=1}^{\infty} n^{t-1} |p_n - p_{n+1}| < \infty$$

then for every $\delta > 0$ the series (2) converges uniformly on R_δ .

PROOF. According to Theorem 5.1.8 of Hille [3] the series (2) converges uniformly on R_δ if the partial sums $\sum_{n=1}^m z^n$ are uniformly bounded on R_δ , $\lim_{n \rightarrow \infty} n^{t-1} p_n = 0$ and

$$\sum_{n=1}^{\infty} |n^{t-1} p_n - (n+1)^{t-1} p_{n+1}| < \infty.$$

It is easy to see that the first two conditions are satisfied. Now note that

$$\begin{aligned} \sum_{n=1}^{\infty} |n^{t-1} p_n - (n+1)^{t-1} p_{n+1}| \\ (21) \quad \cong \sum_{n=1}^{\infty} n^{t-1} |p_n - p_{n+1}| \end{aligned}$$

$$(22) \quad + \sum_{n=1}^{\infty} p_{n+1} |n^{t-1} - (n+1)^{t-1}|.$$

The series (21) converges by hypothesis. The series (22) converges since $(n+1)^\alpha - n^\alpha = O(n^{\alpha-1})$.

Now we define

$$(23) \quad l = P\left\{\bigcap_{k=1}^{\infty} [S_k > 0]\right\}, \quad l' = P\left\{\bigcap_{k=1}^{\infty} [S_k \leq 0]\right\},$$

and

$$(24) \quad \begin{aligned} \Sigma_1 &= \sum_{n=1}^{\infty} P\{S_n \leq 0, S_{n+1} > 0\}, \\ \Sigma_2 &= \sum_{n=1}^{\infty} P\{S_n > 0, S_{n+1} \leq 0\}. \end{aligned}$$

LEMMA 5. $\Sigma_1 < \infty$ if and only if $\Sigma_2 < \infty$.

PROOF. Let I_A denote the indicator function of the set A . Define $I_n = I_{\{S_n > 0, S_{n+1} \leq 0\}}$ and $J_n = I_{\{S_n \leq 0, S_{n+1} > 0\}}$. Set $I = \sum_{n=1}^{\infty} I_n$ and $J = \sum_{n=1}^{\infty} J_n$. For any given point w note that $J(w)$ is the number of times the sequence $\{S_n(w)\}$ "crosses" zero in an upward direction, $I(w)$ is the number of downward crossings, $|J(w) - I(w)| \leq 1$ if either $J(w)$ or $I(w)$ is finite, and $J(w) = \infty$ if and only if $I(w)$ is infinite. Note that $E(I) = \Sigma_2$, that $E(J) = \Sigma_1$, and that if either of these expected values is finite the other differs from it by at most one.

LEMMA 6. If either $l > 0$ or $l' > 0$ (or both), then Σ_1 and Σ_2 are finite.

PROOF. An immediate consequence of Lemma 2.4 of Rosenblatt [4].

PROPOSITION 2. If $0 < t < 1$ and either $l > 0$ or $l' > 0$ (or both), then for every $\delta > 0$ the series (2) converges uniformly on R_δ .

PROOF. Note that $\sum_{n=1}^{\infty} |p_n - p_{n+1}| \leq \Sigma_1 + \Sigma_2$. Then apply Lemmas 5 and 6 and Proposition 1.

Note that when $t=1$ this method, as well as that used to prove the theorem, may be used. In this case, $S_n \rightarrow -\infty$ and $l' > 0$.

REFERENCES

1. D. L. Hanson and Melvin Katz, *On the oscillation of sums of random variables*, Proc. Amer. Math. Soc. **17** (1966), 864-865. MR **33** #3325.
2. C. C. Heyde, *Two probability theorems and their application to some first passage problems*, J. Austral. Math. Soc. **4** (1964), 214-222. MR **32** #486.
3. Einar Hille, *Analytic function theory*. Vol. 1. *Introduction to higher mathematics*, Ginn, Boston, Mass., 1959. MR **21** #6415.
4. M. Rosenblatt, *On the oscillation of sums of random variables*, Trans. Amer. Math. Soc. **72** (1952), 165-178. MR **13**, 567.

5. W. L. Smith, *A theorem on functions of characteristic functions and its application to some renewal theoretic random walk problems*, Proc. Fifth Berkeley Sympos. Math. Statist. and Probability (Berkeley, Calif., 1965/66), vol. II: Contributions to Probability Theory, part 2, Univ. of California Press, Berkeley, Calif., 1967, pp. 265–309. MR 35 #7373.
6. Frank Spitzer, *A combinatorial lemma and its application to probability theory*, Trans. Amer. Math. Soc. **82** (1956), 323–339. MR 18, 156.

DEPARTMENT OF STATISTICS, UNIVERSITY OF MISSOURI, COLUMBIA, MISSOURI 65201

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF IOWA, IOWA CITY, IOWA 52240